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- Directorate of Distance Education
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COMMERCE

[DBC 220] Mathematics for Managers

Time: 3 hrs.] [Max.Marks : 70/80

PART - A 2pon-&

Answer any TWO questions- 5 marks each
CIRFHTITTR STE> FZAOR e0308. Jem 5 woanes.  2X5=10 Marks

In how many ways the letters of the word ‘Mississippi’ be arranged so that 4
5’5 are not put together ?

‘Mississippi’ @02 =RWE WFoRes) oxy dFoen  BARILRD ? ms_g oY ‘s
rigsy, wiyrie  lpeBxhoyn Grds Rednnes) 10w,

Find the sum of all positive integers between 500 and 900 whick:are divisible
by 9. ’ )

9 00w wRwera 500 &3y 9000 S0 O TIF TArveror: doa3 e E&fbgﬁﬁg‘
BOm08:E3000.

Find the compound interest on ¥25,000 at 8% p.a compounded half yearly for
'3 years.

25000 dp RO oHed, B 8 U0 - umemmrag, R eﬁ:se:’)ﬁ G
DEANEY TNt DMWY v 1Y WEEHRY  FRARND, -

62 factories in a state manufacture pens and 48 factories manufacture both
pens and ink. If the state have 132 factories which manufacture either pens
or ink, find the number of factories which manufacture ink only and represent
the same by VENN diagram. ‘

w0 Tz 62 ohoeyeond fe@o  Semndoh, OIS, 48 chozyme-
o) Sesode WDy TR, emaaafo@améd O Seade eoe DAY,
OTI R oi:oagmdri% 132 cgd femo dmofom NOFHDIR o:faosgmdm? 75033-
ORRY, FORBTAOND T Dot WP Sowos &dfa&w :

PART - B :;)mﬁ ?.3

Answer any THREFE questions - 10 marks each.
AR F00 BERER (03020 - 3 10 wodnsy, 3X10=30 Marks

5. a) Inhow many ways an entertainment committee of 5 members can be formed

out of 6 boys and 3 girls. And in how many ways the committee can be
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formed if there is at least one girl. ' ’ '
oIty RCIKEhY, RGO KRNBhE, Hoh  FXMTH TEy TR RTHAHIRY,

OB PENABA0E ARy DTN RINWTID DI - TG wHFH TEACKCT0S
S, DEERN  RWCHRY, TURLETD.

b)  Solve by using log table.
log table 2294 RS0NHRY, BoRAWND.
89.62

;;75.3 x ;; 26.9

6. a) Solve by using Cramers rule.
gesous Rodabziod VAW
20 4+y—2=3
4z + 3y — 3z =1
z—y+5z=4
b) Find Simple interest and amount for #450 for 3% years at 4% p.a.
o 4508, 31 waenon e 4 god wrvs  XovRads), WY BRI, Sobka-

7. a) Prove that
b+ao ct+b a+c
gt | e e % psb -1
=l R o =0 B
QOTH  ZHRA.
b) Find the fourth praportionof 3: 6 :: 12 : -
00 TeQRodh SRLTREER), T0mIH0N0.

8. a) Find the surface area of a pipe of 10 feet having radius of 7 feet.
7 0B SEER 10 oB sogs BaN s, jenr oy ?

b) Find sum of first 7 terms of a geometric progression whose 5th term is 80
and 10th term is 2560. ’ _ '
80 ) wode TTTON THFY 2560 ®), 10k FwA  ReDT rorsg Judod
Boco 7 Bany  SegE HoEkBOND.

9, a) Divide #1275 among AB and C sothat A: B=3:4and B: C =2:5.
A:b=3:4 B:C =2:5 obmn3nd on 1275 &) 4,B @& C A
50230,

b) Find the amount of annuity of Rs 800 for 2 years at CI of 9% P.A.
T3 Te e 800 Tod Be 9 T MGNRDY 2 TVFHYOYHT [HFES BRI,
FOTBR000, :
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10.

11.

12,

PART - C 2tmni-2

Answer any TWO questions - 15 marks each

a)

b)

b)

CIRTYTTITR ST FYBrien vugda - 3w 15 wosnsh. 2X15=30 Marks

Find the roots of 22 — 5z +6 = 0
T0g = & Hdoba) sodirond.

Find the value of 2 if logy2 + logy4 + logz8 = 6
U 2 ¥ BSody J0EEBOND.

Find the a.r'ea and circumference of a circle whose radius is 7 cms.
Tem S, S DALF 303) WOROD),  FORBOND.

How many 5 digit number can be formed by using 1,2, 3,4,5,6, 7, 8 and
9. And how many of them are odd.

L2 345,67, 8 33 o) w Xy b 03T, ﬁoﬁa(ﬁ)ﬁg ot F 2t A% von
RY ognvd  dxmodiEy Y

If M ={2,4,6,8,10} N ={7,8,9,10,12} and O = {14,16,12,10}, find:
e3238 YOrELTOND

YMNN 2)NUO 3)MNO 4 MUN

c).

a)

b)

Find the area and breadth of a rectangle whose diagonal is 13 ¢m and length

is 12 cm.
Soh3II gor 13 cm W ovg 12 cm ¢, NS oo wE §63 Fousy
HOC$H8a530000.

« In how many ways a committee of 8 members can be selected out of 9

teachers and 4 students. In how many ways it can be formed if there is to
be majority of teachers. _
9 MUERTRANT) DB 4 DRPETIER,  LWAER0ED 8 IHHPUNS RR0SADRY, e
PR CUREh. CmREES WEHBDDT0E (majarity) omy, DTN FRo-
300y, TLRIETINS,

-3 -2 -1 0 -1 -2
HA:[O —4 2] B:[—B —4 —5]

-1 -2 -3 -1 0 -2
5030 Show that (4 + B) = 4’ + B! aoy  2desn.

Simplify:
XODPeEOA:

3
a9 (a?

atxad
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13.

14.

15.

)

‘Find true discount, banker’s discount and bankers gain on a bill for Rs )

8,000 payable after 6 months at 12% p.a.
6 sony mohded 8,000 de omcd B¢ 12 ©o3 ey AW Ay moﬁc‘d

Roels THF) LRPE0TT ot TOwIEBOND.

3 4 7

Show that | 2 1 3i=—40
—5 —1 2

Q0T ATRDA.

If 40 men can complete the work in 24 days, how long will 80 men take to

do the same work.
2,00 BRI, 40 Tod 24 ORNTO JpBAT6 80 ZHodnR wzdc FORTRY, MR

Zemorida DRNG XY, ?

PART - D ogmri - @
Note: Compulsory question for 80 Marks S_cia.eﬁzé;
ROUE: 80 ot PR AT FgoDd JHD. |

Answer any ONE of the follawmg questwns. iﬂMﬂchs.
CRRREOR 20 ISR ugda. 10 oSk, 1><10 10 Marks

a)

b)

b)

Find the present value of an anuity ¥1,000 for 4 years @10 % p-a
1000 . SweERics B¢ 10 Co3 4 Barmvepross  degs 8BNS A (PV)
docéaaoﬁsoma

Find the three numbers in A.P. such that their sum is 27 a.nd product is

648.
X030 Behdms Bedo St g deg 27 PV @Qﬁv rracisy 648
T8 3 WNT  B[INERY, FomdbRRA00. :

Find the area of a triangle whose sides are 24, 36 and 48cms.
24, 36, @03 48 cms YOGE WRRITRY, %1,1)2:5;3 Gegﬁem ﬂoﬁa&ﬁaoba&

The sum of 3 numbers in GP is 31 and their product is 125. Find the 3

numbers.
rormdy Berdosd Hene 3 T8 BRg 31 DY @Qm# rorooyy 125 & @
Rt TEALR),  BoBBROWO.

* kil 3k
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